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Sufficient and Necessary Condition of Independence About Random
Events in Classic Probability Model

WANG Yi-gang
School of Mathematics Science South China Normal University Guangzhou 510631 China
Abstract On the basis of classic probability model and probability space (2 .7 P this thesis discusses the sufficient and
necessary condition of independence about random events. We have proved that random events are independent if and only if
random events can be transformed into strip events and different axis.
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